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HISTORY
( Major )
Paper : 5.5
[ History of Great Britain (1485-1820) ]
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in one word
or in one sentence each : 1x7=7

il erpryes 2o Te ot == 37 @61 e fiat :

(a) What was the most important
significance of the Battle of Bosworth
(1485)?
AT Yad (S8ve) HHRSLF AWEAT FLIC0!
& iz 2

(b) Who was Sir Thomas More?
T4 6 17 @ e ?

(c) What is the theory of Divine Right of
Kingship?

i Qe SR 4R R 2

(d) What was the Petition of Right (1628)?
witeRe o (Sev) Renfee
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(2) (3)

(e) How did the First Civil War (1642-46) 3. Write short notes on any three of the

come to an end? following : 5x3=15
AT TE (Su83-8%) Rweq el Cafew 9 fafeiRe i coren bR esw 53 Gt forar

(/) In which year were William and Mary (a) Religious Policy of Henry VIII
proclaimed king and queen as joint BN (AR 4w S
sovereign by the Convention? (b) Downfall of the Puritan Government
FACSAGC (5T THe W RIS g PEROM b3 e
T 97 fRo1ee caren 3k 2 (c) The Long Parliament

(g9 Who invented powerloom in 1715? A AWM
$95¢ 5T AR (Fle TeRe Ffifee 2 ) (d) James II

2. Answer the following questions in brief : 2x4=8 sty o> s .
frafeiRe 2prize ote Te frr: (e) Achievements of William Pitt
(B9 FFTOPTZ

(@) What were the Acts passed by Queen SR !
Elizabeth in 1559 to bring about a 4. Answer any three of the following questions : da¥
settlement with the Church? 10x3=
MR G NPT P[RR AT T GRrae AR errmzs R @i fofior Tes fr
Sead 59 29 91 Higfy == & wnfeer 2 (@) The accession of Henry VII is generally

(b)) Write two causes of downfall of taken as the dividing line between
Commonwealth. medieval and modern times. Explain.

(c)

(d)

20A/235

PACAALT 2[S9 PR 701 forst |

What were the main causes of conflict
between James I and Parliament?

AT (FT6 HEF ALTE AES QA TRIH] 2y
IRPIR fF oifee 2

Write about the circumstances leading to

* the union of England with Ireland (1800).

TEGT AF TEREGIT GFaAFIT (Svoo)s
SR et wiRfefee R o |

( Continued )

(b)

20A/235

T AN PP SR MRS A
wE S T qa@ee @ 3 e 9
¥ | IR0

Discuss critically various phases of the
foreign policy of Queen Elizabeth. To
what extent did she succeed I
combating the Counter-Reformation?
0 FreReR Gt Aoy Rfen o’E
TIPSR Seeeal 1 | Sifesegaai
“ETZA “191S IRIRET Fre (08 R I
Cafeet 2

( Turn Over)




(4)

(c) “The Restoration was not only the

restoration of the old monarchy, it is
also meant the bringing back of the
Parliament and before long, it is meant
the bringing back of the old Church.”
Elucidate this statement with reference
to the period of 1660-1688.
‘o ARSBIRIRCT (@1 94 AT R 2Bz
el AIfRE, 3 SR o QAR TS
STSR SAICHIEAl i, 2 MR o
AfSBIS IHRREA 1”7 Svvo-Sbrb B BRI
fSfes b2 TEACHT Rege 341 |

(d) Why did England participate in the War
of the Spanish Succession? How did the
Treaty of Utrecht (1713) make England
the strongest European power?
oz SRR 37 2ee [ wive 2fke 2
TGS PR (sase) R TEAs AR
bR = a1 Rowet e g ?

(e) “George 1 was the first constitutional
king of England.” Do you agree with the
statement?

o TE AT AYRI RS @ 17
@2 TEAOR GIeS Bft Garecd ? |

() Why did the Industrial Revolution begin
in England? What were its economic and
social consequences?
oot Re eewe R o @R ? WK
G W AN Feernz @ wifee 2
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